

Some congruences involving fourth powers of central q -binomial coefficients

Victor J. W. Guo

School of Mathematical Sciences, Huaiyin Normal University, Huai'an, Jiangsu 223300, People's Republic of China (jwguo@hytc.edu.cn)

Su-Dan Wang

Department of Mathematics,
East China Normal University, Shanghai 200062, People's Republic of China (sudan199219@126.com)

(MS received 18 June 2017; accepted 16 November 2017)

We prove some congruences on sums involving fourth powers of central q -binomial coefficients. As a conclusion, we confirm the following supercongruence observed by Long [Pacific J. Math. 249 (2011), 405–418]:

$$\sum_{k=0}^{((p^r-1)/(2))} \frac{4k+1}{256^k} \binom{2k}{k}^4 \equiv p^r \pmod{p^{r+3}},$$

where $p \geq 5$ is a prime and r is a positive integer. Our method is similar to but a little different from the WZ method used by Zudilin to prove Ramanujan-type supercongruences.

Keywords: q -binomial coefficients; q -WZ method; cyclotomic polynomials; q -analogue of Wolstenholme's binomial congruence; q -analogue of Morley's congruence.

2010 *Mathematics subject classification:* Primary: 11B65; Secondary: 05A10; 05A30

1. Introduction

Congruences on binomial coefficients modulo prime powers have been widely studied. In 1819, Charles Babbage [2] proved that, for any prime $p \geq 3$,

$$\binom{2p-1}{p-1} \equiv 1 \pmod{p^2}.$$

In 1862, J. Wolstenholme [25] further showed that the above congruence holds modulo p^3 for all primes $p \geq 5$, or equivalently,

$$\sum_{k=1}^{p-1} \frac{1}{k} \equiv 0 \pmod{p^2} \quad \text{for } p \geq 5.$$

There are many variations and generalizations of Wolstenholme’s congruences in the literature. See [12] for a historical survey on these congruences. In 1895, another interesting binomial congruence was given by Morley [13]:

$$\binom{p-1}{((p-1)/(2))} \equiv (-1)^{((p-1)/(2))} 4^{p-1} \pmod{p^3}$$

for any prime $p \geq 5$. Moreover, in 1986, Chowla, Dwork, and Evans [3] proved the congruence:

$$\binom{((p-1)/(2))}{((p-1)/(4))} \equiv \frac{2^{p-1} + 1}{2} (2x - ((p)/(2x))) \pmod{p^2},$$

where p is a prime such that $p \equiv 1 \pmod{4}$ and $p = x^2 + y^2$ with $x \equiv 1 \pmod{4}$, proposed by F. Beukers which refines the well-known congruence $\binom{(p-1)/2}{(p-1)/4} \equiv 2x \pmod{p}$. See [16] for an elementary proof of this congruence.

In 1997, van Hamme [23] conjectured that, for any prime $p \geq 3$,

$$\sum_{k=0}^{((p-1)/(2))} \frac{4k+1}{(-64)^k} \binom{2k}{k}^3 \equiv p(-1)^{((p-1)/(2))} \pmod{p^3}, \tag{1.1}$$

which was later proved by Mortenson [14] and Zudilin [26]. Recall that the Pochhammer symbol $(a)_k$ is defined as $(a)_0 = 1$ and $(a)_k = a(a+1) \cdots (a+k-1)$ for $k = 1, 2, \dots$. Then we have $((1)/(4^k)) \binom{2k}{k} = (((1/2)_k)/((1)_k))$. In a previous paper, motivated by Zudilin’s work [26], the first author [8] used the q -WZ method to prove that, for any odd prime p ,

$$\sum_{k=0}^{((p-1)/(2))} (-1)^k q^{k^2} [4k+1] \frac{(q; q^2)_k^3}{(q^2; q^2)_k^3} \equiv [p] q^{((p-1^2)/(4))} (-1)^{((p-1)/(2))} \pmod{[p]^3}, \tag{1.2}$$

where the q -shifted factorial is defined by $(a; q)_0 = 1$ and $(a; q)_n = (1-a)(1-aq) \cdots (1-aq^{n-1})$ for $n \geq 1$, while the q -integer is defined as $[n] = [n]_q = 1 + q + \cdots + q^{n-1}$ (see [4]). It is clear that (1.2) is a q -analogue of (1.1).

On the other hand, applying hypergeometric identities, Long [11, theorem 1.1] proved that, for any prime $p \geq 5$,

$$\sum_{k=0}^{((p-1)/(2))} \frac{4k+1}{256^k} \binom{2k}{k}^4 \equiv p \pmod{p^4}. \tag{1.3}$$

Recently, by using the Zeilberger algorithm, the second author [24] has given some generalizations of (1.3), such as

$$\sum_{k=0}^{((p-1)/(2))} \frac{(4k+1)^3}{256^k} \binom{2k}{k}^4 \equiv -p \pmod{p^4}$$

for any odd prime p with $p \equiv 2 \pmod{3}$.

The first purpose of this paper is to give a q -analogue of (1.3) as follows.

THEOREM 1.1. *Let p be an odd prime. Then*

$$\sum_{k=0}^{((p-1)/(2))} [4k + 1] \frac{(q; q^2)_k^4}{(q^2; q^2)_k^4} \equiv [p]q^{((1-p)/(2))} + \frac{(p^2 - 1)(1 - q)^2}{24} [p]^3 q^{((1-p)/(2))} \pmod{[p]^4}. \tag{1.4}$$

Note that the congruence (1.4) modulo $[p]^3$ confirms a congruence in [8, conjecture 5.2]. Recall that the q -binomial coefficients $\begin{bmatrix} x \\ k \end{bmatrix}_{q^n}$ are defined by

$$\begin{bmatrix} x \\ k \end{bmatrix}_{q^n} = \begin{cases} \frac{(q^{(x-k+1)n}, q^n)_k}{(q^n; q^n)_k} & \text{if } k \geq 0, \\ 0 & \text{otherwise.} \end{cases}$$

For convenience, when $n = 1$, the subscript of the q -binomial coefficients will be omitted in the later discussion. It is easy to see that

$$\frac{(q; q^2)_k}{(q^2; q^2)_k} = \frac{1}{(-q; q)_k^2} \begin{bmatrix} 2k \\ k \end{bmatrix},$$

and so the congruence (1.4) may be restated as

$$\sum_{k=0}^{((p-1)/(2))} \frac{[4k + 1]}{(-q; q)_k^8} \begin{bmatrix} 2k \\ k \end{bmatrix}^4 \equiv [p]q^{((1-p)/(2))} + \frac{(p^2 - 1)(1 - q)^2}{24} [p]^3 q^{((1-p)/(2))} \pmod{[p]^4}.$$

Let $\Phi_n(q)$ be the n -th cyclotomic polynomial in q , which may be defined as

$$\Phi_n(q) := \prod_{\substack{1 \leq k \leq n \\ \gcd(k, n) = 1}} (q - e^{2\pi i((k)/(n))}),$$

where i is the imaginary unit. It is well known that $\Phi_n(q)$ is the minimal polynomial over the field of rational numbers of any primitive n -th root of unity. Our second purpose is to give a further generalization of (1.4).

THEOREM 1.2. *Let n be a positive odd integer. Then*

$$\sum_{k=0}^{((n-1)/(2))} [4k + 1] \frac{(q; q^2)_k^4}{(q^2; q^2)_k^4} \equiv [n]q^{((1-n)/(2))} + \frac{(n^2 - 1)(1 - q)^2}{24} [n]^3 q^{((1-n)/(2))} \pmod{[n]\Phi_n(q)^3}. \tag{1.5}$$

Letting $n = p^r$ be an odd prime power, and noticing that $\Phi_{p^r}(q) = [p]_{q^{p^r-1}}$, we immediately get the following conclusion from theorem 1.2.

COROLLARY 1.3. *Let p be an odd prime and r a positive integer. Then*

$$\sum_{k=0}^{((p^r-1)/(2))} [4k+1] \frac{(q; q^2)_k^4}{(q^2; q^2)_k^4} \equiv [p^r]q^{((1-p^r)/(2))} + \frac{(p^{2r}-1)(1-q)^2}{24} [p^r]^3 q^{((1-p^r)/(2))} \pmod{[p^r][p]_{q^{p^{r-1}}}^3}. \tag{1.6}$$

In particular, if $p \geq 5$, then the $q = 1$ case gives

$$\sum_{k=0}^{((p^r-1)/(2))} \frac{4k+1}{256^k} \binom{2k}{k}^4 \equiv p^r \pmod{p^{r+3}}. \tag{1.7}$$

Note that the congruence (1.7) has already appeared in [11, theorem 1.1]. However, the proof given there is not correct for $r > 1$ (see [6, p. 897]). Here we indeed confirm [11, theorem 1.1].

By using the WZ method, Z.-W. Sun [20] proves the following generalization of (1.1):

$$\sum_{k=0}^n (4k+1) \binom{2k}{k}^3 (-64)^{n-k} \equiv 0 \pmod{4(2n+1) \binom{2n}{n}}. \tag{1.8}$$

Recently, a q -analogue of (1.8) has been given by the first author [8]:

$$\sum_{k=0}^n (-1)^k q^{k^2} [4k+1] \left[\begin{matrix} 2k \\ k \end{matrix} \right]^3 (-q^{k+1}; q)_{n-k}^6 \equiv 0 \pmod{(1+q^n)^2 [2n+1] \left[\begin{matrix} 2n \\ n \end{matrix} \right]}.$$

The last purpose of this paper is to give the following similar congruence, which confirms the $r = 2$ case of the second congruence in [8, conjecture 5.4].

THEOREM 1.4. *Let n be a positive integer. Then*

$$\sum_{k=0}^n [4k+1] \left[\begin{matrix} 2k \\ k \end{matrix} \right]^4 (-q^{k+1}; q)_{n-k}^8 \equiv 0 \pmod{(1+q^n)^3 [2n+1] \left[\begin{matrix} 2n \\ n \end{matrix} \right]}. \tag{1.9}$$

It should be mentioned that the following $q = 1$ case of (1.9) is also new:

$$\sum_{k=0}^n (4k+1) \binom{2k}{k}^4 256^{n-k} \equiv 0 \pmod{8(2n+1) \binom{2n}{n}}.$$

2. Proof of Theorem 1.1

We define two rational functions in q^n and q^k :

$$F(n, k) = (-1)^k q^{k(k-2n-1)} \frac{[4n+1](q; q^2)_n^3 (q; q^2)_{n+k}}{(q^2; q^2)_n^3 (q^2; q^2)_{n-k} (q; q^2)_k^2},$$

$$G(n, k) = \frac{(-1)^{k-1} q^{k(k-2n+1)} (q; q^2)_n^3 (q; q^2)_{n+k-1}}{(1-q)^2 (q^2; q^2)_{n-1}^3 (q^2; q^2)_{n-k} (q; q^2)_k^2},$$

where we use the convention that $1/(q^2; q^2)_m = 0$ for $m = -1, -2, \dots$. The functions $F(n, k)$ and $G(n, k)$ satisfy the relation

$$[2k-1]F(n, k-1) - [2k]F(n, k) = G(n+1, k) - G(n, k). \tag{2.1}$$

Indeed, we have the following expressions:

$$\frac{F(n, k-1)}{G(n, k)} = \frac{q^{2n-4k+2}(1-q)(1-q^{4n+1})(1-q^{2k-1})^2}{(1-q^{2n-2k+2})(1-q^{2n})^3},$$

$$\frac{F(n, k)}{G(n, k)} = -\frac{q^{-2k}(1-q)(1-q^{4n+1})(1-q^{2n+2k-1})}{(1-q^{2n})^3},$$

$$\frac{G(n+1, k)}{G(n, k)} = \frac{q^{-2k}(1-q^{2n+1})^3(1-q^{2n+2k-1})}{(1-q^{2n})^3(1-q^{2n-2k+2})}.$$

Then it is routine to verify the identity

$$\frac{q^{2n-4k+2}(1-q^{4n+1})(1-q^{2k-1})^3}{(1-q^{2n-2k+2})(1-q^{2n})^3} + \frac{q^{-2k}(1-q^{2k})(1-q^{4n+1})(1-q^{2n+2k-1})}{(1-q^{2n})^3}$$

$$= \frac{q^{-2k}(1-q^{2n+1})^3(1-q^{2n+2k-1})}{(1-q^{2n})^3(1-q^{2n-2k+2})} - 1,$$

which is equivalent to (2.1) (dividing both sides by $G(n, k)$).

Summing (2.1) over n from 0 to $((p-1)/2)$, we obtain

$$[2k-1] \sum_{n=0}^{((p-1)/2)} F(n, k-1) - [2k] \sum_{n=0}^{((p-1)/2)} F(n, k) = G\left(\frac{p+1}{2}, k\right) - G(0, k)$$

$$= G\left(\frac{p+1}{2}, k\right). \tag{2.2}$$

It is easy to see that, for $k = 1, 2, \dots, ((p - 1)/(2))$, we have

$$\begin{aligned}
 G\left(\frac{p+1}{2}, k\right) &= (-1)^{k-1} q^{k(k-p)} \frac{(q; q^2)_{(p+1)/2}^3 (q; q^2)_{(p+1)/2+k-1}}{(1-q)^2 (q^2; q^2)_{(p-1)/2}^3 (q^2; q^2)_{(p+1)/2-k} (q; q^2)_k^2} \\
 &= (-1)^{k-1} q^{k(k-p)} \frac{(1-q)[p]^3 (q; q^2)_{(p-1)/2}^3 (q; q^2)_{(p+1)/2+k-1}}{(q^2; q^2)_{(p-1)/2}^3 (q^2; q^2)_{(p+1)/2-k} (q; q^2)_k^2} \\
 &\equiv 0 \pmod{[p]^4},
 \end{aligned} \tag{2.3}$$

since $(q; q^2)_{(p+1)/2+k-1}$ is divisible by $[p]$, while the denominator is relatively prime to $[p]$. In view of (2.2) and (2.3), we have

$$\begin{aligned}
 \sum_{n=0}^{((p-1)/(2))} F(n, 0) &\equiv \frac{[2]}{[1]} \sum_{n=0}^{((p-1)/(2))} F(n, 1) \equiv \frac{[2][4]}{[1][3]} \sum_{n=0}^{((p-1)/(2))} F(n, 2) \\
 &\equiv \dots \equiv \frac{[2][4] \dots [p-1]}{[1][3] \dots [p-2]} \sum_{n=0}^{((p-1)/(2))} F\left(n, \frac{p-1}{2}\right) \pmod{[p]^4}.
 \end{aligned} \tag{2.4}$$

Furthermore,

$$\begin{aligned}
 \sum_{n=0}^{((p-1)/(2))} F\left(n, \frac{p-1}{2}\right) &= F\left(\frac{p-1}{2}, \frac{p-1}{2}\right) \\
 &= (-1)^{((p-1)/(2))} q^{((1-p^2)/(4))} [2p-1] \frac{(q; q^2)_{(p-1)/2} (q; q^2)_{p-1}}{(q^2; q^2)_{(p-1)/2}^3} \\
 &= \frac{(-1)^{((p-1)/(2))} q^{((1-p^2)/(4))} [p] (q; q^2)_{(p-1)/2}}{(-q; q)_{p-1} (q^2; q^2)_{(p-1)/2}} \left[\begin{matrix} p-1 \\ ((p-1)/(2)) \end{matrix} \right]_{q^2} \left[\begin{matrix} 2p-1 \\ p-1 \end{matrix} \right].
 \end{aligned} \tag{2.5}$$

By the proof of [19, lemma 5], we have

$$\begin{aligned}
 \left[\begin{matrix} 2p-1 \\ p-1 \end{matrix} \right] &\equiv 1 - \frac{(p-1)(1-q)}{2} [p] + \frac{(p-1)(5p-7)(1-q)^2}{24} [p]^2 \\
 &\equiv q^{((p(p-1))/(2))} + \frac{(p^2-1)(1-q)^2}{12} [p]^2 \pmod{[p]^3},
 \end{aligned} \tag{2.6}$$

which may be deemed a q -analogue of Wolstenholme’s binomial congruence, and a q -analogue of Morley’s congruence due to Pan [15, theorem 1.2] gives

$$\begin{aligned}
 \left[\begin{matrix} p-1 \\ \frac{p-1}{2} \end{matrix} \right]_{q^2} &\equiv (-1)^{((p-1)/(2))} q^{((1-p^2)/(4))} (-q; q)_{p-1}^2 \\
 &\quad - (-1)^{((p-1)/(2))} q^{((1-p^2)/(4))} \frac{(p^2-1)(1-q)^2}{24} [p]^2 \pmod{[p]^3}.
 \end{aligned} \tag{2.7}$$

Substituting (2.6) and (2.7) into (2.5) and noticing (2.4), we get

$$\sum_{k=0}^{((p-1)/(2))} [4k + 1] \frac{(q; q^2)_k^4}{(q^2; q^2)_k^4} \equiv [p]q^{((1-p)/(2))} + (p^2 - 1)(1 - q)^2 [p]^3 \left(\frac{q^{((1-p^2)/(2))}}{12} - \frac{q^{((1-p)/(2))}}{24(-q; q)_{p-1}^2} \right) \pmod{[p]^4}.$$

The proof then follows from the fact that $(-q; q)_{p-1} \equiv 1 \pmod{[p]}$ (see, e.g., [5, (1.6)]) and $q^{((1-p^2)/(2))} \equiv q^{((1-p)/(2))} \pmod{[p]}$.

REMARK. The method we use to prove theorem 1.1 is similar to the WZ method used by Zudilin [26], or the q -WZ method used by Tauraso [22] and the first author [8]. In general, the functions $F(n, k)$ and $G(n, k)$ are difficult to find. Here these functions in the $q = 1$ case have already been given by the second author [24] using the Zeilberger algorithm (see [9, 17]). This enables us to guess them out, fortunately.

3. Proof of Theorem 1.2

We first give a generalization of (2.6) indicated by the proof of [19, lemma 5]. The proof of this generalization is similar to that of [19, lemma 5]. The difference is we need to use a general form of Shi and Pan’s q -analogue of Wolstenholme’s harmonic series congruence [18]. However, the proof from [18] also works for this general form. We provide a short proof here for the sake of completeness.

LEMMA 3.1. *Let n be a positive integer. Then*

$$\begin{bmatrix} 2n - 1 \\ n - 1 \end{bmatrix} \equiv (-1)^{n-1} q^{\binom{n}{2}} + \frac{(n^2 - 1)(1 - q)^2}{12} [n]^2 \pmod{\Phi_n(q)^3}. \tag{3.1}$$

Proof. Noticing that $[a + b] = [a] + q^a [b]$, we compute

$$\begin{bmatrix} 2n - 1 \\ n - 1 \end{bmatrix} = \frac{[2n - 1][2n - 2] \cdots [n + 1]}{[n - 1][n - 2] \cdots [1]} = \frac{1}{\prod_{1 \leq j \leq n-1} [j]} \prod_{k=1}^{n-1} ([n] + q^n [n - k])$$

which modulo $\Phi_n(q)^3$ reduces to

$$q^{n(n-1)} + q^{n(n-2)} \sum_{j=1}^{n-1} \frac{[n]}{[j]} + q^{n(n-3)} \sum_{1 \leq j < k \leq n-1} \frac{[n]^2}{[j][k]}, \tag{3.2}$$

since $[n]$ is divisible by $\Phi_n(q)$ and $[n - 1]!$ is relatively prime to $\Phi_n(q)^3$. On the other hand, the proofs given by Shi and Pan [18] imply that (although their theorems

are only concerning the case where $n \geq 5$ is a prime)

$$\sum_{j=1}^{n-1} \frac{1}{[j]} \equiv \frac{(n-1)(1-q)}{2} + \frac{(n^2-1)(1-q)^2}{24} [n] \pmod{\Phi_n(q)^2}, \tag{3.3}$$

$$\sum_{j=1}^{n-1} \frac{1}{[j]^2} \equiv -\frac{(n-1)(n-5)(1-q)^2}{12} \pmod{\Phi_n(q)}. \tag{3.4}$$

Combining (3.3) and (3.4), we deduce that

$$\sum_{1 \leq j < k \leq n-1} \frac{1}{[j][k]} \equiv \frac{(n-1)(n-2)(1-q)^2}{6} \pmod{\Phi_n(q)}. \tag{3.5}$$

In view of (3.3) and (3.5), we may rewrite (3.2) modulo $\Phi_n(q)^3$ as

$$q^{n(n-1)} + q^{n(n-2)} \left(\frac{(n-1)(1-q^n)}{2} + \frac{(n^2-1)(1-q^n)^2}{24} \right) + q^{n(n-3)} \frac{(n-1)(n-2)(1-q^n)^2}{6}.$$

Using the binomial theorem

$$q^{mn} = ((q^n - 1) + 1)^m = \sum_{k=0}^m \binom{m}{k} (q^n - 1)^k$$

to reduce the term q^{mn} modulo the approximate power of $\Phi_n(q)$, we obtain

$$\begin{bmatrix} 2n-1 \\ n-1 \end{bmatrix} \equiv 1 - \frac{(n-1)(1-q^n)}{2} + \frac{(n-1)(5n-7)(1-q^n)^2}{24} \pmod{\Phi_n(q)^3},$$

which is equivalent to (3.1) by noticing that $q^{((n)/(2))} \equiv -1 \pmod{\Phi_n(q)}$ if n is even. □

We also need another auxiliary result.

LEMMA 3.2. *Let n be a positive odd integer. Then*

$$(-q; q)_{n-1} \equiv 1 \pmod{\Phi_n(q)}. \tag{3.6}$$

Proof. By the q -binomial theorem (see, e.g., [1, p. 36, (3.3.6)]), we have

$$(-q; q)_{n-1} = \sum_{k=0}^{n-1} \begin{bmatrix} n-1 \\ k \end{bmatrix} q^{\binom{k+1}{2}} \equiv \sum_{k=0}^{n-1} (-1)^k = 1 \pmod{\Phi_n(q)},$$

since

$$\begin{bmatrix} n-1 \\ k \end{bmatrix} = \prod_{j=1}^k \frac{1-q^{n-j}}{1-q^j} \equiv \prod_{j=1}^k \frac{1-q^{-j}}{1-q^j} = (-1)^k q^{-\binom{k+1}{2}} \pmod{\Phi_n(q)}. \quad \square$$

Proof of Theorem 1.2. The proof is similar to that of theorem 1.1. Let $m > 1$ be an odd integer. Summing (2.1) over n from 0 to $((m - 1)/(2))$, and noticing that

$$\frac{(1 - q)[m]^3(q; q^2)_{(m-1)/2}^3(q; q^2)_{(m+1)/2+k-1}}{(q^2; q^2)_{(m-1)/2}^3(q^2; q^2)_{(m+1)/2-k}(q; q^2)_k^2} \equiv 0 \pmod{[m]^2\Phi_m(q)^2}$$

for $k = 1, 2, \dots, ((m - 1)/(2))$ (see [7, lemmas 2.1 and 2.2 with $(r, d) = (1, 2)$]), we obtain

$$\begin{aligned} \sum_{n=0}^{((m-1)/(2))} F(n, 0) &\equiv \frac{[2][4] \cdots [m-1]}{[1][3] \cdots [m-2]} \sum_{n=0}^{((m-1)/(2))} F\left(n, \frac{m-1}{2}\right) \\ &= \frac{(-1)^{((m-1)/(2))} q^{((1-m^2)/(4))} [m]}{(-q; q)_{m-1}^2} \left[\begin{matrix} m-1 \\ ((m-1)/(2)) \end{matrix} \right]_{q^2} \left[\begin{matrix} 2m-1 \\ m-1 \end{matrix} \right] \\ &\pmod{[m]^2\Phi_m(q)^2}. \end{aligned} \tag{3.7}$$

Substituting (3.1) and the following congruence [10, (1.5)]

$$\begin{aligned} \left[\begin{matrix} m-1 \\ \frac{m-1}{2} \end{matrix} \right]_{q^2} &\equiv (-1)^{((m-1)/(2))} q^{((1-m^2)/(4))} (-q; q)_{m-1}^2 \\ &\quad - (-1)^{((m-1)/(2))} q^{((1-m^2)/(4))} \frac{(m^2 - 1)(1 - q)^2}{24} [m]^2 \pmod{\Phi_m(q)^3} \end{aligned}$$

into (3.7), then using (3.6) and $q^{((1-m^2)/(2))} \equiv q^{((1-m)/(2))} \pmod{\Phi_m(q)}$, we immediately obtain (1.5) for $n = m$. □

4. Proof of Theorem 1.4

We need two divisibility results on q -binomial coefficients. The first one is just [7, lemma 4.1], and the proof of the second one is similar to that of [7, lemma 4.2].

LEMMA 4.1. *Let n be a positive integer. Then*

$$(-q; q)_n^3 \left[\begin{matrix} 4n+1 \\ 2n \end{matrix} \right] \equiv 0 \pmod{(1 + q^n)^2(-q; q)_{2n}}.$$

LEMMA 4.2. *Let n and k be positive integers with $k \leq n + 1$. Then*

$$\frac{(q; q^2)_{n+1}^3(q; q^2)_{n+k}(-q; q)_n^8}{(1 - q^{2k-1})(q^2; q^2)_n^3(q^2; q^2)_{n-k+1}(q; q^2)_k^2} \equiv 0 \pmod{(1 + q^n)^3[2n + 1] \left[\begin{matrix} 2n \\ n \end{matrix} \right]}.$$

Similarly as before, summing (2.1) over n from 0 to N , we obtain

$$[2k - 1] \sum_{n=0}^N F(n, k - 1) - [2k] \sum_{n=0}^N F(n, k) = G(N + 1, k). \tag{4.1}$$

By lemma 4.2, for $1 \leq k \leq N$, we have

$$\frac{G(N + 1, k)(-q; q)_N^8}{[2k - 1]} \equiv 0 \left(\text{mod } (1 + q^N)^3 [2N + 1] \begin{bmatrix} 2N \\ N \end{bmatrix} \right). \tag{4.2}$$

Multiplying both sides of (4.1) by $(-q; q)_N^8/[2k - 1]$ and applying (4.2), we get

$$\begin{aligned} & \sum_{n=0}^N F(n, k - 1)(-q; q)_N^8 \\ & \equiv \frac{[2k]}{[2k - 1]} \sum_{n=0}^N F(n, k)(-q; q)_N^8 \left(\text{mod } (1 + q^N)^3 [2N + 1] \begin{bmatrix} 2N \\ N \end{bmatrix} \right), \end{aligned}$$

and, therefore,

$$\begin{aligned} & \sum_{n=0}^N F(n, 0)(-q; q)_N^8 \\ & \equiv \frac{[2]}{[1]} \sum_{n=0}^N F(n, 1)(-q; q)_N^8 \equiv \frac{[2][4]}{[1][3]} \sum_{n=0}^N F(n, 2)(-q; q)_N^8 \\ & \equiv \dots \equiv \frac{[2][4] \dots [2N]}{[1][3] \dots [2N - 1]} \sum_{n=0}^N F(n, N)(-q; q)_N^8 \left(\text{mod } (1 + q^N)^3 [2N + 1] \begin{bmatrix} 2N \\ N \end{bmatrix} \right). \end{aligned} \tag{4.3}$$

It is easy to see that

$$\begin{aligned} \sum_{n=0}^N F(n, N) &= F(N, N) = (-1)^N q^{-N(N+1)} [4N + 1] \frac{(q; q^2)_N (q; q^2)_{2N}}{(q^2; q^2)_N^3} \\ &= (-1)^N q^{-N(N+1)} \frac{(q; q^2)_N [4N + 1]}{(q^2; q^2)_N (-q; q)_{2N} (-q; q)_{2N}^2} \begin{bmatrix} 2N \\ N \end{bmatrix} \begin{bmatrix} 4N \\ 2N \end{bmatrix}. \end{aligned}$$

By lemma 4.1, we have

$$\begin{aligned} & \frac{[2][4] \dots [2N]}{[1][3] \dots [2N - 1]} \sum_{n=0}^N F(n, N)(-q; q)_N^8 \\ &= (-1)^N q^{-N(N+1)} (-q; q)_N^6 \frac{[2N + 1]}{(-q; q)_{2N}} \begin{bmatrix} 2N \\ N \end{bmatrix} \begin{bmatrix} 4N + 1 \\ 2N \end{bmatrix} \\ & \equiv 0 \left(\text{mod } (1 + q^N)^3 [2N + 1] \begin{bmatrix} 2N \\ N \end{bmatrix} \right). \end{aligned} \tag{4.4}$$

Combining (4.3) and (4.4), we obtain

$$\sum_{n=0}^N F(n, 0)(-q; q)_N^8 \equiv 0 \pmod{(1 + q^N)^3 [2N + 1] \begin{bmatrix} 2N \\ N \end{bmatrix}}.$$

That is, the congruence (1.9) holds for $n = N$. □

5. Two open problems

Numerical calculation suggests that the range of summation in (1.5) can be modified but the result modulo $[n]\Phi_n(q)^3$ remains unchanged. Specifically, we have the following conjecture.

CONJECTURE 5.1. *Let n be a positive odd integer. Then*

$$\sum_{k=0}^{n-1} [4k + 1] \frac{(q; q^2)_k^4}{(q^2; q^2)_k^4} \equiv [n]q^{((1-n)/(2))} + \frac{(n^2 - 1)(1 - q)^2}{24} [n]^3 q^{((1-n)/(2))} \pmod{[n]\Phi_n(q)^3}. \tag{5.1}$$

In particular, if $p \geq 5$ is a prime and r is a positive integer, then

$$\sum_{k=0}^{p^r-1} \frac{4k + 1}{256^k} \binom{2k}{k}^4 \equiv p^r \pmod{p^{r+3}}. \tag{5.2}$$

Note that, the congruence (5.1) is true for $n = p$ by theorem 1.1, since $((q; q^2)_k)/((q^2; q^2)_k) \equiv 0 \pmod{[p]}$ for $((p + 1)/(2)) \leq k \leq p - 1$. Swisher [21] has made many conjectural supercongruences that generalize van Hamme’s 13 Ramanujan type supercongruences. In particular, her conjectural supercongruence (C.3) is as follows: for any prime $p \geq 5$,

$$\sum_{k=0}^{((p^r-1)/(2))} \frac{4k + 1}{256^k} \binom{2k}{k}^4 \equiv p \sum_{k=0}^{((p^{r-1}-1)/(2))} \frac{4k + 1}{256^k} \binom{2k}{k}^4 \pmod{p^{4r}}.$$

Inspired by the above conjecture of Swisher, the first author (see [6, conjecture 4.6]) has proposed the following conjecture, which is clearly a refinement of (5.2).

CONJECTURE 5.2. *Let $p \geq 5$ be a prime and r a positive integer. Then*

$$\sum_{k=0}^{p^r-1} \frac{4k + 1}{256^k} \binom{2k}{k}^4 \equiv p \sum_{k=0}^{p^{r-1}-1} \frac{4k + 1}{256^k} \binom{2k}{k}^4 \pmod{p^{4r}}.$$

Acknowledgements

The authors would like to thank the referee for a careful reading of a previous version of this paper. The first author was partially supported by the National Natural Science Foundation of China (grant 11771175), the Natural Science Foundation of Jiangsu Province (grant BK20161304), and the Qing Lan Project of Education Committee of Jiangsu Province.

References

- 1 G. E. Andrews. *The theory of partitions* (Cambridge: Cambridge University Press, 1998).
- 2 C. Babbage. Demonstration of a theorem relating to prime numbers. *Edinburgh Philos. J.* **1** (1819), 46–49.
- 3 S. Chowla, B. Dwork and R. Evans. On the mod p^2 determination of $\binom{(p-1)/2}{(p-1)/4}$. *J. Number Theory* (1986), 188–196.
- 4 G. Gasper and M. Rahman. *Basic hypergeometric series*. 2nd Edn, Encyclopedia of Mathematics and its applications, vol. 96 (Cambridge: Cambridge University Press, 2004).
- 5 V. J. W. Guo. Some congruences related to the q -Fermat quotients. *Int. J. Number Theory* **11** (2015), 1049–1060.
- 6 V. J. W. Guo. Some generalizations of a supercongruence of van Hamme. *Integral Transforms Spec. Funct.* **28** (2017), 888–899.
- 7 V. J. W. Guo. q -Analogues of the (E.2) and (F.2) supercongruences of Van Hamme. *Ramanujan J.* (2018), <https://doi.org/10.1007/s11139-018-0021-z>
- 8 V. J. W. Guo. A q -analogue of a Ramanujan-type supercongruence involving central binomial coefficients. *J. Math. Anal. Appl.* **458** (2018), 590–600.
- 9 W. Koepf. *Hypergeometric summation, an Algorithmic approach to summation and special function identities*, 2nd Edn (London: Springer, 2014).
- 10 J. Liu, H. Pan and Y. Zhang. A generalization of Morley’s congruence. *Adv. Differ. Equ.* **2015** (2015), 254.
- 11 L. Long. Hypergeometric evaluation identities and supercongruences. *Pacific J. Math.* **249** (2011), 405–418.
- 12 R. Mestrovic. Wolstenholme’s theorem: its generalizations and extensions in the last hundred and fifty years (1862–2012), preprint, 2011, arXiv:1111.3057.
- 13 F. Morley. Note on the congruence $2^{4n} \equiv (-1)^n (2n)! / (n!)^2$, where $2n + 1$ is a prime. *Ann. of Math.* **9** (1895), 168–170.
- 14 E. Mortenson. A p -adic supercongruence conjecture of van Hamme. *Proc. Amer. Math. Soc.* **136** (2008), 4321–4328.
- 15 H. Pan. A q -analogue of Lehmer’s congruence. *Acta Arith.* **128** (2007), 303–318.
- 16 H. Pan. An elementary approach to $\binom{(p-1)/2}{(p-1)/4}$ modulo p^2 . *Taiwanese J Math.* **16** (2012), 2197–2202.
- 17 M. Petkovšek, H. S. Wilf and D. Zeilberger. *A = B* (Wellesley, MA: A K Peters, Ltd., 1996).
- 18 L.-L. Shi and H. Pan. A q -analogue of Wolstenholme’s harmonic series congruence. *Amer. Math. Monthly* **114** (2005), 529–531.
- 19 A. Straub. A q -analog of Ljunggren’s binomial congruence, 23rd International Conference on Formal Power Series and Algebraic Combinatorics (FPSAC 2011). *Discrete Math. Theor. Comput. Sci. Proc., AO, Assoc. Discrete Math. Theor. Comput. Sci., Nancy* (2011) 897–902.
- 20 Z.-W. Sun. Products and sums divisible by central binomial coefficients. *Electron. J. Combin.* **20** (2013), #P9.
- 21 H. Swisher. On the supercongruence conjectures of van Hamme. *Res. Math. Sci.* (2015) 2–18.
- 22 R. Tauraso. Some q -analogs of congruences for central binomial sums. *Colloq. Math.* **133** (2013), 133–143.
- 23 L. van Hamme. *Some conjectures concerning partial sums of generalized hypergeometric series, p -adic functional analysis (Nijmegen, 1996)*, Lecture Notes in Pure and Appl. Math., vol. 192 (New York: Dekker, 1997), 223–236.
- 24 S.-D. Wang. Generalizations of a supercongruence involving $\binom{2k}{k}^4$. *J. Difference Equ. Appl.* **24** (2018), 1375–1383.
- 25 J. Wolstenholme. On certain properties of prime numbers. *Quart. J. Pure Appl. Math.* **5** (1862), 35–39.
- 26 W. Zudilin. Ramanujan-type supercongruences. *J. Number Theory* **129** (2009), 1848–1857.